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IIepumerp paBHOOEIPEHHOrO TPEYTrOIbHUKA cOCTaBsAeT 64 ¢M, a OCHOBAHME OT-
HocuTcs K 60KOBOii cropone kak 6 : 5. Iljnomaznp Tpeyronbuuka pasaa / The
perimeter of an isosceles triangle is 64 cm, and the base refers to the side as

6 : 5. The area of the triangle is
300 em? / 300 cm?  [2] 60 cm? / 60 cm? 192 cv? / 192 cm?

96 cm? / 96 cm? 48 em? / 48 cm?

1| Ywucmo ’5\/5—7| - ’7—4\/§| pasuo / Calculate ’5\/5—7| - ’7—4\/§|
[1] 4v3 -5v2 [2] 4v/3-5v2—14 [3] 4v3+5v2—14
[4] 5v2-4v3 [5] 14-4v3+5v2

2 | Ecmu b—a =1, ro 3uauenue Boipazkenus (24 a)(b—2) + (1 — b)(a + 1) pasuo
JIfb—a=1, calculate (2+a)(b—2)+ (1 —-0b)(a+1) /

1 @E: [o [ @2

3 | Ecmu 10 1 58%-n0ro pactsopa COJISHON KHUCJIOTHI OBLIO MOJYYEHO CMEIIECHUEM
30%-u0ro u 70%-HOTro pacTBOPOB, TO CKOJILKO JIUTPOB KUCJIOTHI ¢ KOHIICHTPAIIU-
eit B 30% 6b110 B3sito / If 10 liters of 58% hydrochloric acid was obtained
by mixing 30% and 70% liquors, then how many liters of the liquor with
concentration of 30% was taken?

2  [Ese e [ [
4 2ab a—b b
B i b— - Calculat
BIIIOJIHUTE  JE€HCTBUS (a + oy b) (a b + a) / alculate
2ab a—b b
a+b— : + -
a+b a+b a
M. B B Har Hew
1-3 5 1 1
5 | Pemenmen YPpaBHEHUS v + x; =3- T apisiercs yucio / Find the
1-3 b) 1 1
root for the equation x xf—;— =3- x_g
O @7 B ©s [

6 -5, b—4 -5, b—4
Ecmm % = 200, To ;mﬁ pasen / If % = 200, calculate ;CFW
+10 [2] +0.1
BBIUUCJIUTH HeJIb3sd, TAK KaK JIAHHBIX He xBaTaer / cannot be solved
3] 10 01

7 | Omnmunuku B AByX KJlaccax TMMHA3UH BMECTE COCTABJISIOT 16%%, npudeM B
OJHOM KJlacce, rje 24 ydyenuka, oHu cocTapisior 12,5%, a Bo sropom — 20%.
Yucsio yueHUKOB Bo BTopoM Kjacce pasho / The excellent students in two classes
of the gymnasium together make up 16%%, and in the first class, where there
are 24 students, they make up 12.5%, and in the second — 20%. The number
of students in the second class is
Hr @2 B Es @

9 | Ksagparuanas dyukims, rpaduk Koropoii npoxomur 1epes rouku (0; 3), (2;0),
(—1;0) samaercss ypasaenmeMm / A quadratic function whose graph passes
through the points (0;3), (2;0), (—1;0) is given by
y:f%x2+%$+3 Izly:%zer%xfii y:x274x+3
y:x2+4x+3 y:6—4x—2x2

10| Ecmm omum m3 xopmeit ypasnernna ax? — (1 —a) o — 3 = 0 pasen 3, To BTOPOif
ero kopenb pasen / If one of the roots of the equation ax? — (1 —a)  —3 =0
equals 3, then its second root is equal to
G e s @o: [

11| Cymma geitcreurensubx Kopreit ypapuenus (v — 2)%(2? — 42 + 3) = 12 pasna
/ The sum of the real roots of the equation (z — 2)?(2? — 42 + 3) = 12 is equal
to
NEE . @ ;

12| Ecmm mapabona y = —22% — ax + b npoxomut wepes Toukn (—3; —5) u (—1;5),
To a u b pasub coorBercTBenno / If the parabola y = —2x2 — ax + b passes
through the points (—3; —5) and (—1;5), then a and b are equal, respectively
~3; 4 4 =3 —4; 3 —3; 3; 4

13| O6uacrs onpenenenus ynknun y = vV° + 22 — x — 1 coBnazaer ¢ MHOXKe-
creoM / Find the set of values for the function y = va3 + 22 —x — 1
(—o0;1] [2] [-1;1] [1; 400) U{—1} (—o0; —1] [—1; +oc]

log, 64 log, 64
1] Borancanrs —83°~ / Calculate 983 0%
log; /316 log; /316
4
25 -2 . 15 3
15| Xots 6BI OMH KOpeHb ypaBHeHHs 2° — 24222,/ = 243 IpuHAIIEKUT HpPOMe-

xKyTKy / At least one root of the equation x% — 24222\/z = 243 belongs to the

interval
3;7  [2] &10)  [8] [100;142] [10; 20] [0: 2]
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Pemenne nepasencrsa 3v/11(6 — 3x) > 10(6 — 3x) oupezensiercss COOTHONIEHN-
em / Solution to the inequality 3v/11(6 — 3z) > 10(6 — 3z) is determined by

x>2|z| a:<0,5 HeT perneHnii / no solutions x>0,5 x <2
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+ 2> (z? —4) <0 pasua / The

CyMMa 1eJIbIX penteHuii HepaBeHCTBA (| 1]
T —

1
sum of integer solutions of the inequality ( +2) (22 —4)<0is

o1
0 [z

HEBO3MOXKHO ompeeuTh / cannot be determined
[4] 2

Ty = —8
x—4)(y—2)=12
rae (x1,y1), (z2,y2) — pemenns cucremsl / For the system of equations

Ty = —8

(x—4)(y—2) = 12 calculate x1 - o + y1 - Y2, where (x1,y1), (2,y2) —
solutions of the system

~20 [2] 16 [3] 20

st cucteMbl ypaBHEHHIT { ( BBIYHUCIIATD X1 * T2 + Y1 * Y2,

—12 12

23

Paccrognue mexy npsambivu 3z + 4y = 25 u 3z + 4y = 10 pasuo / Find the
distance between the lines 3z + 4y = 25 and 3z + 4y = 10
)

[1] 13 [2] 3 [3] 5 [4] 2

18

!
2 _ _
T 20— 3
Ob6sacTbio onpeneseHns PYHKIANA § = T SIBJISIETCS. MHOYKECTBO /
x? —4x —

2 — 92 —3
2 —4x — 21
(-3; 3] [2] (—o0; —TJU[-3; —1] U[3; +00) (—o0; —3]U[3; +00)
(=T =3) U (~1; 3) (—o00; —3) U [~1; 3] U (T; +o0)

The domain of the function y = is the set

24

CymMa Bcex IeJIbIX 3HAYEHUI BBIDAXKeHUsT T + IIpU [EJOYUCJIEHHBIX T

-5

pasaa / Sum of all integer values of x + for integer x is equal to

[1] 4 [2] 13 [3] 20 [4] 16 [5] 8

25
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JlnuHa ITPOMEXKYTKa WICIOBOI OCH, Ha KOTOPOM BBIIOJIHSETCS HEPABEHCTBO
273 < 3 — mx < 373, pasna / The length of the interval on which exists the

inequality 273 < 3 — 72 < 373, is equal to
2 51346
o :

2 5#1—6 A2

O6usactb 3HaueHnit byuknun y = |3—x|—2 Ha npomexyTke = € [1; 9] coBnamaer
¢ muozkectBoM / The range of values of the function y = |3—z|—2 on the interval

x € [1;9] coincides with the set
24 [2] [-8:2] 0;2] [~8:4) 0; 4]

26

20

8
:E2+8y272z+4y+9

Hawubosbitiee 3nadenne BbIparKeHUs pasro / Find the

largest value of the expression

[1] 1 [2] 4

2+y?—2x+4y+9

[2] 8 [4 3 [5] 2

2. Va3 2. Y3
a?-vVa a?-vVa
Boipazkenue log, ¢/ ———=— pasno / Calculate log, {/ ———
V. Va ¢ Va

31 7 11 8
% § ﬁ 5

eI

27

CkopocTh TOYKH, JBUKYIIelics mpamo/mHeiino o saxkony S(t) = 0,5¢e!, B Mo-
MeHT Bpemenu tg = In4 pasua / The speed of the point moving rectilinearly
according to the rule S(¢) = 0.5¢’ at the moment of time ¢y = In4 is equal to

[1] 4 [2] n2 [3] 2 [4] 1 [5] o

21

Cymma 1ebIx 3HaueHuit © € [—4; 6], 11t KOTOpBIX TUIep6osa iy = JIE2KHT

—x
HIKe npsiMoit y = 2, pasHa / The sum of integer values z € [—4; 6] for which

lies below the straight line y = 2 is equal to

[2] 2 [4] 3 [5] 1

the hyperbola y = 3

[1] 5

— T

[2] 4

28

in T
sin %

. (x —5)(200 — x)

of roots of the equation 5 =0is

(z — 5)(200 — z)
39 [2] 40 41 1

KonnyecTBo KopHell ypaBHEHUS = 0 pasao / The number

[5] 38
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29| VYmioBoit k03bdUIUEHT KacaTeJbHON K rpaduky OyHKIIHT
f(z) = 2 — cos (z — 1)? — sin® z B Touke ¢ abemuccoit o = 1 pasen / Angular
coefficient of the tangent to the graph of the function
f(z) =z — cos (z — 1)? — sin® z at point with the abscissa o = 1 is equal to
sin2  [2] 1+sin2 1-sin2  [4] 0 —sin2

30| VYpasmenne 4|22 — x| = a umeer posno 4 Kopus npu yciaosuu / The equation
4|22 — x| = a has exactly 4 roots if
0<a<1|z| TaKHxaHeT/nosucha 1<a<2|z| a>4 a>2

[6]
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